Grading policy:

S-38.115 Signalling Protocol Exam Result on Dec.15.2003

Passing
Grade on the 13
Exam
Grade  Points
1 15
2 18
3 21
4 24
5 27
Student Number t1 t2 t3 | t4 t5 || Exam Points | Exercise Points || Total Points | Grade |Status
49845K 1,00 2,00{2,00| 3,00| 5,00 13 4 17( 1 |Pass
51528A 1,25 4,50( 0,00 4,00| 4,00} 13,75 3 16,75 1 |Pass
51809T 5,00 0,00{ 4,00{ 4,50| 2,00 15,5 2 175 1 |Pass
59694T 3,00 2,00{1,00| 2,75| 5,00 13,75 2 15,75 1 |Pass
59736A 4,50 5,75[0,00] 1,00| 5,25 16,5 2 18,5 2 |Pass
51296T 3,00 5,00( 6,00| 0,00| 6,00 20 2 22 3 |Pass
51385L 4,00 4,00( 6,00| 2,00| 4,00 20 3 23 3 |Pass
56989K 1,00 2,50(4,00| 4,50| 6,00 18 4 22 3 |Pass
49651E 5,00 5,00 2,25| 5,75| 5,00 23 2 25 4 |Pass
54083L 2,50 3,00( 4,50| 6,00| 5,00 21 4 25 4 |Pass
45537R 1,00 1,00] 3,50( 2,00 2,50 10 2 12| 0 |[Fail
48247H 1,00 4,50(1,00{ 0,00| 0,00 6,5 2 85| 0 |[Fail
48277V 1,25 4,00(2,00|0,00| 2,00 9,25 2 11,25 0 |[Fail
49535C 0,00 0,00{0,00{ 0,00| 0,00 0 2 2| 0 |Fail
49809M 0,00 0,00{ 0,00{ 0,00| 0,00 0 2 2| 0 |Fail
49900H 1,75 1,00] 1,75[2,00] 2,00 8,5 2 105 0 |Fail
49909T 3,25 2,25(2,75|0,00| 3,00 11,25 2 13,25 0 |Fail
49929U 0,00 2,50{ 0,00/ 0,00| 0,00 2,5 2 45| 0 |[Fail
52649A 2,00 0,00{ 2,00{ 2,00| 2,00} 8 3 11) 0 |Fail
57036V 0,00 0,00( 3,00{ 0,00| 5,00 8 2 10/ O ([Fail
57289E 5,00 0,00{ 0,00{ 0,00| 6,00} 11 2 13| 0 |Fail
59734V 1,00 2,75[2,00]0,00] 2,00 7,75 2 9,75 0 [Fail
60174B 0,00 3,00( 1,25| 2,00| 2,00 8,25 3 11,25 0 |[Fail
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